

PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

INVOICE

Invoice Number: 141385

Invoice Date: Feb 13, 2014

Page: 1

Customer ID	Field Ticket #	Payment Terms		
Shak	62561	Net 30 Days Service Date Due Da		
Job Location	Camp Location			
KS1-01	Oakley	Feb 13, 2014	3/15/14	

Quantity	Item	Description	Unit Price	Amount
1.00	WELL NAME	Ortega #1-25		
180.00	CEMENT MATERIALS	Class A Common	17.90	3,222.00
3.00	CEMENT MATERIALS	Gel	23.40	70.20
6.00	CEMENT MATERIALS	Chloride	64.00	384.00
194.64	CEMENT SERVICE	Cubic Feet Charge	2.48	482.71
399.73	CEMENT SERVICE	Ton Mileage Charge	2.60	1,039.30
1.00	CEMENT SERVICE	Surface V	1,512.25	1,512.25
45.00	CEMENT SERVICE	Pump Truck Mileage	7.70	346.50
1.00	CEMENT SERVICE	Manifold Rental	275.00	275.00
45.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	198.00
1.00	CEMENT SUPERVISOR	Alan Ryan TEB 2 4 2014		
1.00	EQUIPMENT OPERATOR	Kevin Ryan	世	
		Surface 10502-5		
		10502-5		
		Law team		

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

1,882.49

ONLY IF PAID ON OR BEFORE Mar 10, 2014

\$

TOTAL	7,829.57
Payment/Credit Applied	
Total Invoice Amount	7,829.57
Sales Tax	299.61
Subtotal	7,529.96



ALLIED OIL & GAS SERVICES, LLC Federal Tax I.D. # 20-8651475 508 100 REMIT TO P.O. BOX 93999 SERVICE POINT: SOUTHLAKE, TEXAS 76092 Oakles RANGE CALLEDOUT JOB START 5130 DATE & 13 CH ON LOCATION JOB FINISH 6:00 LOCATION ince Eto Falcon /145 OLD OR NEW (Circle one) Winto CONTRACTOR HA OWNER TYPE OF JOB Sintrare HOLE SIZE T.D. 265 CEMENT CASING SIZE DEPTH 265 AMOUNT ORDERED 1804 TUBING SIZE DEPT DRILL PIPE DEPTH TOOL DEPTH PRES. MAX MINIMUM COMMON MEAS, LINE SHOE JOINT POZMIX CEMENT LEFT IN CSO GEL PERFS. CHLORIDE DISPLACEMENT 13.92 ASC. EQUIPMENT 0 @ PUMPTRUCK # 以みインタ CEMENTER_ @ @ HELPER BULK TRUCK @ @ DRIVER **BULK TRUCK** @ DRIVER HANDLING MILEAGE 250 REMARKS: TOTAL 5 198 SERVICE DEPTH OF JOB PUMPTRUCK CHARGE **EXTRAFOOTAGE** @. @ \ MILEAGE MANIFOLD @ Coplebale @ @ CHARGE TO: 5 halle 5 per STREET CIT STATE_ ZJP. PLUG & FLOAT EQUIPMENT @ To: Allied Oil & Gas Services, LLC. @ ര You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or TOTAL contractor. I have read and understand the "GENERAL SALES TAX (If Any). TERMS AND CONDITIONS" listed on the reverse side. TOTAL CHARGES

DISCOUNT _

SIGNATURE BYON

IF PAID IN 30 DAYS

5,647,47 Net.



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282 (817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

INVOICE

Invoice Number: 141609

Invoice Date: Feb 25, 2014

Page:

1

Customer ID	Field Ticket #	Payment Terms			
Shak	61474	Net 30 Days		474 Net 3	
Job Location	Camp Location	Service Date	Due Date		
KS1-02	Oakley	Feb 25, 2014	3/27/14		

Quantity	Item	Description	Unit Price	Amount
THE PROPERTY OF THE PROPERTY O	WELLNAME	Ortega #1-25		
3.00	CEMENT MATERIALS	Gel No Charge		
165.00	CEMENT MATERIALS	ASC	20.90	3,448.50
18.00	CEMENT MATERIALS	Salt	26.35	474.30
825.00	CEMENT MATERIALS	Gilsonite	0.98	808.50
116.00	CEMENT MATERIALS	CD-31	10.30	1,194.80
12.00	CEMENT MATERIALS	WFR-II MIL'(D)CIDATED	58.70	704.40
208.00	CEMENT SERVICE	Cubic Feet Charge	2.48	515.84
349.20	CEMENT SERVICE	Ton Mileage Charge MAR 1 0 2014	2.60	907.92
1.00	CEMENT SERVICE	Production Casing V	2,765.75	2,765.75
45.00	CEMENT SERVICE	Pump Truck Mileage	7.70	346.50
1.00	CEMENT SERVICE	Rotating Head	475.00	475.00
45.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	198.00
1.00	EQUIPMENT OPERATOR	Paul Beaver		
1.00	EQUIPMENT OPERATOR	Tyler Flipse		
		10502-5		
		Cultiple		11 839 5

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$

2,959.87

ONLY IF PAID ON OR BEFORE Mar 22, 2014

Subtotal	11,839.51
Sales Tax	540.39
Total Invoice Amount	12,379.90
Payment/Credit Applied	
TOTAL	12,379.90



ALLIED OIL & GAS SERVICES, LLC 061474

Federal Tax I.D.#	20-8651475
REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	SERVICE POINT: _Oakky KS
DATE 225-19 25 16 34	LEDOUT ONLOCATION JOB START JOB FINISH 3:30 a.m. 5 to Falcon Rd, Scott STATE SCOTT
LEASE Or tega WELL# 1-25 LOCATION TENCE OLD OR NEW Circle one) 145 Wint	
TYPE OF JOB Production (512) HOLE SIZE 778 TD. 4870'	CEMENT ASC
TUBING SIZE DEPTH DRILL PIPE DEPTH	AMOUNT ORDERED 165 sts ASC 10.70 salt, 526/1soute, 270 gel, 3/4 of 170 CD-31
TOOL Port Colley DEPTH 2390.96 PRES. MAX MINIMUM MEAS. LINE SHOE JOINT 46,72' CEMENT LEFT IN CSG. 46,72	COMMON -
DISPLACEMENT 114.80 bl water EQUIPMENT	ASC 165 sks @ 20.90 3448.50 Salt 18 sks @ 26.35 474.30 Gilsonik 825 @ . 98 808.50 CD-31 116 @ 10.30 1.94.80
PUMPTRUCK CEMENTER food Seaver # 120 HELPER Tyler Flipse BULK TRUCK # 400 DRIVER TOWN 2 (TW3)	(26) (26) (37) (40) (40) (40) (40) (40) (40) (40) (40
BULK TRUCK # DRIVER REMARKS:	#ANDLING208-43 @ 2.48 515.84 MILBAGE 7.74 fors 445 ml k 2.60 907.92 TOTAL 8054.26
Break circ. / Drop bell / Bell 300 # mix 12 bbl super flush, mix 30 sks in R. H. Mix 135 sks Down Cosiny,	SERVICE
Shot Daw, washropato pit, release plus displace wheater, plus did land @ 1300 w w 800 w lift pressure, Float did hold	DEPTH OF JOB
CHARGETO: Shake spere	тогаё́ 3 <i>7185-25</i>
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
To: Allied Oil & Gas Services, LLC. You are hereby requested to rent cementing equipment	@
and furnish cementer and helper(s) to assist owner or contractor to do work as is listed. The above work was done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL TERMS AND CONDITIONS" listed on the reverse side.	TOTAL SALES TAX (If Any) TOTAL CHARGES//, 839.57/
PRINTED NAME Doug Roberts SIGNATURE Doug Robert	TOTAL CHARGES 11, 839.57 DISCOUNT 2,959.87 IF PAID IN 30 DAYS 8,879.63 Net.



PO Box 93999 Southlake, TX 76092

Voice: Fax: (817) 546-7282

(817) 246-3361

Bill To:

Shakespeare Oil Co., Inc. 202 West Main St. Salem, IL 62881

INVOICE

Invoice Number: 141617

Invoice Date: Feb 28, 2014

Page: 1

Customer ID	Field Ticket#	Payment Terms			
Shak	62489	Net 30 Days			
Job Location	Camp Location	Service Date	Due Date		
KS1-04	Oakley	Feb 28, 2014	3/30/14		

Quantity	Item	Description	Unit Price	Amount
NAME AND ADDRESS OF THE OWNER, WHEN PARTY OF T	WELL NAME	Ortega #1-25		
	CEMENT MATERIALS	Class A Common	17.90	4,367.6
200 B. 100 C. 10	CEMENT MATERIALS	Pozmix	9.35	1,224.8
	CEMENT MATERIALS	Gel	23.40	608.4
	CEMENT MATERIALS	Flo Seal	2.97	279.1
	CEMENT MATERIALS	Cottonseed Hulls	35.00	245.0
	CEMENT SERVICE	Cubic Feet Charge	2.48	1,454.1
	CEMENT SERVICE	Ton Mileage Charge MAR 1 0 2014	2.60	2,755.3
150	CEMENT SERVICE	Port Collar V	2,483.59	2,483.5
	CEMENT SERVICE	Pump Truck Mileage	7.70	346.
45.00		Light Vehicle Mileage	4.40	198.0
1.00		Andrew Forslund		
1.00		Kevin Ryan		
1.00	Seminaria Anni II	Adam Flipse		
1.00		Talon Jones		
1.00	EQUITMENT OF ENTROIS	3 TO 210 S.V.		
		10502-5		,
				40.000

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

3,490.64

ONLY IF PAID ON OR BEFORE
Mar 25, 2014

Subtotal	13,962.57
Sales Tax	548.09
Total Invoice Amount	14,510.66
Payment/Credit Applied	
TOTAL	14,510.66



ALLIED OIL & GAS SERVICES, LLC 062489 Federal Tax I.D. # 20-8651475

REMITTO	P.O. BOX 93999
	SOUTHLAKE, TEXAS 76092

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092					SERVICE POINT:					
	SEC,	TVP.	RANGE	CA	LLED OU	r	ONL	OCATION	JOB START	JOB FINISH
DATE 2-28-14	25-	14	34	Ц_			L		1:00P14	2:00 Pin
LEASE LEASE	WELL#	1-25	LOCATION Pen	ce	38	1/45	4	into	COUNTY	STATE
OLDOR NEW (Ch	rele one)									
			<u> </u>			-,-			J	
CONTRACTOR &	vild	كر وجوررا			OWNE	<u>R</u> ≪	مم	γ@		
TYPE OF JOB	North				ODM	a ton				
HOLE SIZE CASING SIZE	5/2.	T.D. Def		-	CEME	ANT AUT	1000	n .5720	11. 65	75-
TUBING SIZE	<u> </u>	DEF			8%	97/2/	VFIS.	-500/ 1	Sks (4) 100 H4/Is	on side
DRILLPIPE		DEF	ТН	_	usec	325	5/5	Cener	F 350 4 H	415
TOOL POR	tco/14	ア DET	TH ,239/ '					,		
PRES. MAX			UMUM			10N <u>. 2</u>				4367,60
MEAS, LINE	1.000	SHO	DEJOINT			ΙΧ <u>_/</u> ς				1224,85
CEMENT LEFT IN PERFS.	CSG.		· · · · · · · · · · · · · · · · · · ·	-	GEL			5.45		608,40
DISPLACEMENT						RIDE		_		
DIGI DA I COMBINE	IOI	JIPMENT		_					@	
	, LQC	731 1733V.4 X			F-60	~S&Q	乙	944	@ <i>2,52</i>	229.18
PUMP TRUCK	CRMGNIT	80 An	drew Forsh	\overline{L}_{α}						
	HELPER	Sec. 2	nkevin Ryo	.V	37. 1	<i>(5</i>)	-> -	<u></u>	_ <u>@</u>	04467.05
BULK TRUCK			•	∸ >	1741	*	130	2		245,00
m//	DRIVER	Ada	4 Frase						_@	
BULK TRUCK			•							
#	DRIVER	7260	4 Jones	٠	HAND	LINO	8/	13 04/	1 @ 2,48	1454,09
					MILE	۱GB <i>،گ</i> ره	4072	Smile.	2 <i>35570</i> 0	2255,25
		MARKS:						•	TOTAL	1693447
Pressure syst	ten 12	00# 01	en Portcoll	ác-						•
mix 325 36	5 Cene	at wit	4 350 # 14/	5				SERV	ICE	
Circy Lated	70 5	urface	. Displace	رز					~ · ·	
Close port	Collai	to Pros	ersa clean	227				23	<i>y</i>	2483,379
heldi Kun A	73014	12 3100	Sist Cress	<u>~</u>		A FOOT		RGB	@	470310 Y
					MILE	AGE &	1000.	1605	_ @ <u></u> 22	346,50
					MANI	EULD	2.0		@	_
		す!	hank you		270	Krve	hic	Le	04,40	198:00
			\$				_		@	
CHARGE TO:	Shall	espa.	(e							_
									TOTA	L3028,09
STREET										
CITY	\$	TATE	ZIP				PLUC	a & FLOA	T EQUIPME	NT
							110	, ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	A 14 C 4 2 1 1 1 1	
			_							
To: Allied Oil &	Gan Sam	uicae XXC	•						@	
			 menting equipmer	\t					@	
and furnish come	equesteu ontar and	helper(e)	to assist owner or	"					@	
contractor to do	work se i	ie lieted. T	he above work w	as						
			of owner agent o						TOTA	L
contractor. I have	e read as	d underst	and the "GENERA	\L						
TERMS AND C	ONDITI	ONS" liste	d on the reverse s	ide.	SALE	STAX ((If An	y)- (v	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	
					ATOT	LCHA	RGES	13.	16 9.20	
ሰበ (አጠርስ እንዲኒ	•									AID IN 30 DAY:
PRINTED NAME	، سوسسه	111			שוטכ	OUITE -			39 Net.	III II IV DILLI
,	-/-/	1 ///	•				{(`	ን.ሀ 71 የ	4-) NGT.	